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g3+ 22|22y 294,000 294,000 0
401 AlEHIZLL20H] 294,000 294,000 0
01 Al&HI 294,000 294,000 0
8 HIT X 30,000, 000%9H A~ 270,000
A8 ol A X 12,000, 000%2H 2~ 24,000
AT LML FHAX Y LAY =X (2 GSHLH LA 17,045,563 17,165,303 A 119,740
MNLEEZAH)
_ NS A FHIS LAY =
AWK E 1 X oA
goilde =H2X :5 A
MEENZ X3 11,074,440 8,378,680 2,695,760
308 NAXHMSOIH 11,074,440 8,378,680 2,695,760
04 MEENS 11,074,440 8,378,680 2,695,760
MEEdZ 11,074,440
SUX IS HE AL 3,000,000 0 3,000,000
402 SI2tX=201M 3,000,000 0 3,000,000
01 QIZtX2E=x 3,000,000 0 3,000,000
SAUX D] JHE AL 3,000,000
AMIHMHUUX &EH E= 500,000 3,784,000 A\ 3,284,000
402 QIZ2tX201 A 500,000 2,300,000 1,800,000
01 QIZtX28 =X 500,000 2,300,000 A 1,800,000
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el
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LA FHIY WY 252et & SAAMS
PEUMA FEHXE DAY FE (R XL E X AN

SN EE - ER(EN) - NRAY - BaS sl e HlRE2
Jgls 1008ts ESX# 500,000
&g dEds3d =4 2,000,000 750,000 1,250,000
403 XXM SA=01H 2,000,000 750,000 1,250,000
01 RXESHMA2E = 2,000,000 750,000 1,250,000
NEE HENssE &4 2,000,000
ATHAOIH A CIAQ HelXl =4 150,000 0 150,000
401 Al&HIZL=ROHYI 150,000 0 150,000
01 Al&H| 150,000 0 150,000
ATHAOIL X CIXHR! 2elXl =4 150,000
ol gl bl 321,123 208,623 112,500
801 aildldl 321,123 208,623 112,500
01 Oil8ldl 321,123 208,623 112,500
ol g1l 321,123
HY2A U (TS S 2) (D1EHDIIE}) 99,584 99,884 A300
=&l 99,584 99,884 A 300
Jl=&d| 99,584 99,884 A 300
201 Let2E] 38,268 38,568 A 300
01 AtS22lHl 38,268 38,568 A 300
FH2III2+24] 17,100
FEAEBEII==EHI 21,168
202 044l 56,336 56,336 0
01 =LA b 56,336 56,336 0
2SS E 0 44,400
AR HE 33,600
Mt E2aseta 23 10,800
2= H 0] 11,936
203 ¥R =&l 4,980 4,980 0
04 BEASIHFFEHI 4,980 4,980 0
SNRYHREEY|
(350,000+13H x5,000) x 12 4,980
XH )%‘%(IHH@@%%’%)(%%QHE—c'p_FI._*/IHH%’IH - @l 35,841,801 31,166,876 4,674,925
8
LHEAHHXI & 35,841,801 31,166,876 4,674,925
LHEHHRIE 35,841,801 31,166,876 4,674,925
701 JIEtRI AN ES 17,326,140 13,108,580 4,217,560
01 JIEtI HEE= 17,326,140 13,108,580 4,217,560
F=PNE=R=FSPNRSP) R=g=g==F-1. | 17,326, 140
702 JIsdES 18,515,661 18,058,296 457,365
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